







ABSTRACT

Announcement – Upgradation of the Government District Head Quarters Hospital, Periyakulam, Theni District as Tamil Nadu Accident and Emergency Care Initiative (TAEI) Centre at total cost of Rs.8.00 Crore - Sanctioned – Orders – Issued.

HEALTH AND FAMILY WELFARE (EAPI-1) DEPARTMENT

G.O. (Ms) No.414

Dated:30.11.2022

சுபகிருது, கார்த்திகை -14 திருவள்ளுவர் ஆண்டு-2053

Read:

From the Project Director, Tamil Nadu Health System Reform Program Letter Ref.No.5547/TNHSRP/PMU/TRAUMA/2022, Dated:24.08.2022 and 23.09.2022.

ORDER:

During the visit to Theni District on 30.04.2022, the Hon'ble Chief Minister has made the announcement as follows:-

"பெரியகுளம் அரசு மருத்துவமனை 8 கோடி ரூபாய் செலவிலும் உத்தமபாளையம் அரசு மருத்துவமனை 4 கோடி ரூபாய் செலவிலும் மேம்படுத்தப்படும்."

2. Based on the above announcement, the Project Director, Tamil Nadu Health System Reform Program in her letter read above, has sent a proposal wherein it has been stated that the Tamil Nadu Health System Reform Program (TNHSRP) has been working towards improved provision of quality trauma care services. To Strengthen the Trauma and Emergency Care, the Government of Tamil Nadu has launched the Tamil Nadu Accident and Emergency Care Initiative (TAEI) Program in 2017 and 92 Government health facilities were designated as TAEI facilities. These TAEI centers are dealing with 6 pillars, namely Trauma, Myocardial Infarction, Stroke, Poison, Burns Paediatric Emergencies and other life-threatening conditions. As a front-line face lifting unit, these centres play a major role in quality management and bringing down the mortality. Further, the Gap analysis are being done regularly to identify new centres in the state to upgrade as a TAEI Centre with the provision of Infrastructures (Buildings, Equipments, etc.,). Accordingly, it has been identified the Government District Head Quarters Hospital,

Periyakulam, Theni District for Upgradation as TAEI Centre No.94 and furnished the vital statistics and general performance of the above said hospital.

3. The Project Director, Tamil Nadu Health System Reform Program has furnished the detailed plan for the Construction and the estimate of the non-recurring cost involved in this activity as follows:-

S. No.	Floor	Accommodation Details		
1.	Ground Floor	Casualty, Triage Area, SOT,CT Scan Room, Blood Bank, Pharmacy, Lab Surgical Ward – Male & Female, Paediatric Ward, IKT Wards, NGO Ward		
2.	First Floor			
3.	Second Floor	MOT, POP-Male and Female Ward	630	
Total				

S. No.	Name of the Hospital	Civil Works through PWD (INR)	Equipments through TNMSC (INR)	Total (INR)
1.	Government District Head Quarters Hospital, Periyakulam	6,50,00,000	1,50,00,000	8,00,00,000

The break up details on the expenditure for the equipment is annexed to this order.

- 4. The Project Director, Tamil Nadu Health System Reform Program has stated that the proposal was approved by the State Empowered Committee and hence requested the Government to issue orders in this regard.
- 5. After careful consideration of the request of the Project Director, Tamil Nadu Health System Reform Program, the Government have decided to accept the same subject to the condition that no new human resources will be sought and existing man power to be utilized and issue the following orders:-
 - Administrative sanction is accorded for a sum of Rs.6,50,00,000/- towards the Construction of New Building in Government District Headquarters Hospital, Periyakulam in Theni District through Public Works Department (Medical Wing). Further financial sanction is accorded for a sum of Rs.25,00,000/- (Rupees Twenty five lakh only) for the financial year 2022-2023. The balance amount will be released in the subsequent financial year based on the requirements.
 - ii) Sanction is accorded for a sum of Rs.1,50,00,000/- (Rupees One Crore Fifty lakh Only) towards the procurement of equipments to the Government District Headquarters Hospital, Periyakulam, Theni District through the Tamil Nadu Medical Services Corporation Limited.
 - iii) The Director of Medical and Rural Health Services is authorized to draw and disburse the amount sanctioned at para 5(i)& (ii) above.

- iv) A separate account to be maintained exclusively for Tamil Nadu Health System Reform Program funds in Directorates, Districts and Facilities involved, which should be operated by joint signatory.
- 6. The expenditure sanctioned in para 5(i) above shall be debited to the following head of account:-
 - 4210 Capital Outlay on Medical and Public Health 01 Urban Health Services 200 Other Health Scheme Externally Aided Projects PD Tamil Nadu Health Systems Reforms Project Administrated by Director of Medical and Rural Health Services 416 Major Works 01 Major Works.

(DPC 4210 01 200 PD 41601)

7. The expenditure sanctioned in para 5 (ii) above shall be debited to the following head of account:-

2210-Medical and Public Health-01 Urban Health Services – Allopathy – 110 Hospitals and Dispensaries – Externally Aided Projects – PD, Tamil Nadu Health Systems Reforms Project – Administrated by the Director of Medical and Rural Health Services - 319 Machinery and Equipments - 01. Purchase.

(DPC 2210 01 110 PD 31901)

- 8. Necessary additional funds of Rs.1,75,00,000/- will be provided in RE/FMA 2022-2023. Pending provision of such funds, the Director of Medical and Rural Health Services is authorized to draw and disburse the sanctioned amount in para 5(i) and (ii) above. However, this expenditure shall be brought to the notice of the legislature by Specific Inclusion to the Supplementary Estimates 2022-2023. The Director of Medical and Rural Health Services is also requested to include this expenditure while sending the budget proposals for RE/FMA 2022-2023 and also send draft explanatory notes for specific inclusion in the Supplementary Estimate 2022-2023 to Government in Finance (BG-I/Health-II) Department at an appropriate time without fail.
- 9. The Director of Medical and Rural Health Services is authorized to draw and deposit the sanctioned amount at para 5(ii) into the personal deposit account of Tamil Nadu Medical Services Corporation Limited, Chennai for the procurement of equipment through the Tamil Nadu Medical Services Corporation Limited, Chennai.
- 10. This order issues with the concurrence of the Finance Department vide its U.O.No.50761/Finance (Health-II)/2022, Dated:28.11.2022 and ASL No.1908 (One thousand nine hundred and eight) (IFHRMS ASL No.2022111908)

(BY ORDER OF THE GOVERNOR)

P.SENTHILKUMAR PRINCIPAL SECRETARY TO GOVERNMENT

To
The Project Director, Tamil Nadu Health System Reform Program, Chennai-600 006.
The Mission Director, State Health Society, Chennai – 600 006.
The Director of Medical Education, Chennai – 600 010.

The Director of Medical and Rural Health Services, Chennal – 600 006.

The Director of Public Health and Preventive Medicine, Chennai - 600 006.

The Managing Director, Tamil Nadu Medical Services Corporation Ltd, Egmore, Chennai – 600 008.

The Accountant General (A&E), Chennai – 600 018.

The Pay and Accounts Officer (South), Chennai – 600 035.

The Commissioner of Treasuries and Accounts, Nandhanam, Chennai – 600 035.

Copy to:

The Special Personal Assistant to Hon'ble Chief Minister's Office, Chennai – 600 009.

The Special Personal Assistant to Hon'ble Minister (Health & Family Welfare), Chennai – 600 009.

The Special Personal Assistant to Hon'ble Minister (Finance & Human Resources Management), Chennai – 600 009.

The Finance (Health-II/BG-I&II/W&M-I) Department, Chennai – 600 009.

The Health and Family Welfare (Data Cell/Bills) Department, Chennai – 600 009. Stock file / Spare copy.

//FORWARDED BY ORDER //

Dramo 01.12.2022

SECTION OFFICER

Annexure to the G.O.(Ms) No.414, Health and Family Welfare (EAPI-1) Department, Dated:30.11.2022

The Non-Recurring cost for the provision of Equipment to the Government Hospital, Periyakulam, Theni District.

S. No.	Name Of The Equipment	Qty	Unit Price In Rs.	Total Cost In Rs	
1.	Autoclave Vertical	5	105020	525100	
2.	Semi Auto analyzer	1	66080	66080	
3.	Centrifuge	1	25000	25000	
4.	Incubator	1	48970	48970	
5.	Suction Apparatus	1	15680	15680	
6.	Radiant Warmer	1	104608	104608	
7.	Boyles Apparatus	2	178080	356160	
8.	Pulse Oximeter	3	104664	313992	
9.	Defibrillator	1	195440	195440	
10.	Microscope	3	13782	41346	
11.	Multi para Monitor	4	80640	322560	
12.	ECG Machine	1	599200	599200	
13.	USG Machine	1	1085280	1085280	
14.	High Frequency 100ma X Ray	1	339360	339360	
15.	Cell Counter	1	300000	300000	
16.	Finger Pulse Oximeter	12	755	9060	
17.	Hemoglobin Meter	1	1792	1792	
18.	CFL Phototheraphy	1	35000	35000	
19.	Elisa Reader and washer	1	217769	217769	
20.	Autometer Urine Analyzer	2	350000	700000	
21.		1	280000	280000	
22	D type O2 Cylinder	20	18526	370520	
23.		10	34160	341600	
24.		5	208208	1041040	
25.		5	666400	3332000	
26.		1	1276800	1276800	
27.		1	269920	269920	
28.		2	30000	60000	
29.		1	900000	900000	
30.		1	1825000	1825000	
TOTAL 149992					

P.SENTHILKUMAR PRINCIPAL SECRETARY TO GOVERNMENT

/ True copy /

SECTION OFFICER